Tableaux des Puissances de Dix (C)

Multipliez le nombre de la rangée par celui de la colonne.

6 000 60 000 60 600

8,96

7,79

3,19

4,16

9,35

2000 20000 200 20

9,21

1,56

7,93

6,64

8,96

70 000 7 000 70 700

1,9

9,41

8,07

7,06

3,19

90 000 90 900 9000

5,9

2,15

4,41

9,69

3,83
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Tableaux des Puissances de Dix (C) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 6 000 60 000 60 600
8,96 53760 537 600 537,6 5376
7,79 46 740 467 400 467,4 4674
3,19 19 140 191 400 191,4 1914
4,16 24 960 249 600 249,6 2496
9,35 56 100 561 000 561 5610

X 2000 20 000 200 20
9,21 18 420 184 200 1842 184,2
1,56 3120 31200 312 31,2
7,93 15 860 158 600 1586 158,6
6,64 13 280 132 800 1328 132,8
8,96 17920 179 200 1792 179,2

X 70 000 7 000 70 700

1,9 133 000 13 300 133 1330
9,41 658 700 65 870 658,7 6 587
8,07 564 900 56 490 564,9 5 649
7,06 494 200 49 420 494,2 4942
3,19 223 300 22 330 223,3 2233

X 90 000 90 900 9000

5,9 531 000 531 5310 53100
2,15 193 500 193,5 1935 19 350
4,41 396 900 396,9 3969 39 690
9,69 872100 872,1 8721 87 210
3,83 344 700 344,7 3447 34470
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